Reminders 11-15-10:

-Exam 3 Average 72%; Some are memorizing
equations especially noticeable in problems 2 and 4.
-How Many Still Planning to Enroll in 2B?

-Read Chapters 10 & 11.

-Heat Transfer Lab Canceled. Last lab of semester is
Next Week. Movie with Report on the week of the
29th.

-Momentum Lab; Some of you have not turned in the
rewrite (present grade is zero). Some that have turn
in edited version have not turned in old version too
(I won't grade it until old version is turned in).
-Quiz Monday Chapter 10 and 11.

Objectives:
-Gas Laws

-Kinetic Theory of Gases
-Calorimetry



e If 25,50 moles of an helium gas is at 10°C
and gauge pressure of 0.350 atm, calculate
the volume of He gas under these
conditions in m®. How many molecules are
in the vessel? What is the temperature of
the gas if it is compressed to 1/2 its volume
at a gauge pressure of latm?
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An automobile tire is pumped to a gauge
pressure of 200kPa when it is at 20°C. After
the car have been driven at high speed, the

temperature has been increased to 50°C.
Assuming the volume is unchanged, find
the new gauge pressure. Repeat, if the tire

expands by 10 percent.
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A student eats 4 burritos for dinner (2000 Calories
of food). He wishes to do an equivalent amount of
work by lifting a 50 kg mass. Assume he raises the
mass a distance of 2.00m and that no work is done
when the weight is dropped to the floor. Assume
perfect conversion of chemical energy into
mechanical energy (not true by a factor of 6!). How
many times must he lift the mass? How long will
it take him if he lifts the weight every 5 seconds?
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